Seat No.

Subject Code: C300004
Subject Name: ENGG. PHYSICS GR-I
Time: 10:30 AM TO 12:00 PM

Enrolment No.:

Gujarat Technological University

Diploma Engineering C to D Bridge Course Examination

Instructions:

No.

1.

oA W

Attempt all questions.

Make suitable assumption wherever necessary.

Each question is of 1 mark.

Use of SIMPLE CALCULATOR is permissible. (Scientific/Higher Version not allowed)

English version is authentic.

Question Text and Option. Y Aa [Asc.
What is S.I. Unit of time?

A.  minute B.
C. hour D.
AHAA AU WY, AsH Y B7?

A e

C. SscAls D.
What is S.I. Unit of mass?

A.  kilogramme B.
C. gram D.
gqoll AU, WY, AsH 9 B?

A [Aoun B.
C. A D.
What is S.I. Unit of velocity?

A.  meter B.
C.  Meter/second D.
Adloll AU, Y. AsH 9 B?

A e

C. [er/Ass

What is S.I. Unit of power?

A. second B.
C. hertz D.
UlclRell A, ALY, AsH 9 B?

A, AsS B.
C. &% D.
Meter is S.1. Unit of which physical quantity?
A.  work B.
C. time D.
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10.

10.

11.

.

@e? A 58 clllds AWA A, wE. AsH B?

A s B. Gof

C. dHA D. dou®

Ampere is S.1. Unit of which physical quantity?

A.  Electrical current B.  Electrical energy
C. power D. work

A0N2A 58 elllds A A, Y. ASH BD?

A dlycus B. (Ao G

C. UlaR D. sl

Hertz is S.1. Unit of which physical quantity?

A. Frequency B.  Acceleration
C. velocity D. Periodic time

682 W 58 clllds Al AU, WE. AsH B?

A g B. yaoal

C. aal D. addsla
Which is fundamental quantity from the following?

A. Density B. velocity
C. speed D. Length

(At Ml 58 A2l Yood B?

A, doldl B. Adl
C. »su D. doug
Which quantity is derived from the following?

A.  speed B. time
C. length D. mass

ol ActHidll 58 220 A B?

A BSU B. dHA

C. duy D. t@m
Newton is S.1. Unit of which quantity?

A. velocity B. acceleration
C. force D. density

oeol A 58 Al AU, WY, AsH é?

A, Aol B. yadoal

C. d«n D. doalcll

A micrometer screw gauge contains 100 divisions on its head scale and its pitch is
1mm. What will be its least count measurement?

A.  1mm B. 0.1mm

C. 0.00lmm D. 0.01lmm

As WBsHleR G Aol Aduisk FBA U 100 sIUL & ol dell U 132l
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12.

.

13.

3.

14.

.

15.

.

16.

6.

17.

8, Al doll dydH MUl 3ecll aA ?

A.
C.

1 @R
0.001 M@

B.

D.
A Vernier callipers is calibrated in millimetre and its Vernier scale contains 10

0.1 M@
0.01 @@

divisions. What will be its least count measurement?

A.
C.

Imm
0.001mm

B.
D.

0.1mm
0.01mm

As cllaR dclludetl Yo B AR 6B 53A B Wal Aol allaR BA

UR 5c 10 [Qewdll et B Al dell dyed Hiuaba decll s ?

0.1 M@
0.01 A®

Surface tension

A 1[RAA B.
C. o0.001 AA D.
Definition of which quantity is achieved by using Newton’s first law?
A. Density B.
C. force D.

Frequency

oJ2otoll YUH [[Aar 58 Alell calvaul W 872

A.  HYaldl B. Yredl

C. «n D. g(d

Force of 5N is applied on object of 10kg. How much acceleration is produced in it?
A, 0.1m/s? B. 0.05m/s

C. 0.5m/s’ D. 5m/s’

10 (591l UELE UR 5 2ol (il AL B. Al UeldHl 32l Yadl Gausrl U ?

0.0541/?
5/

Einstein’s law

A oaHl/A? B.
C. o5/ D.
Force between two charges can be found by which law?
A. Newton’s law B.
C. Coloumb’s law D.

Faraday’s law

A (AoselR clAo] sl amell el asta ?

W BoieBololl [AaAH
523l [Aan

becomes zero
not change

Yol U
WEAd otell

Hardness
softness

A oot [Aan B.
C. sciololl Qan D.
If temperature increases then surface tension will
A. increases B.
C.  decreases D.
AlUMLeHl aulRl saedl yedlal

A dfl B.
C. ue D.
By which reason drop of liquid is spherical?
A.  Surface tension B.
C.  Viscosity D.
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9.

18.

.

19.

20.

0.

21.

1.

22.

2.

23.

R3.

24,

el Al yeugle 2y alausiz sl 82

A yRdll B. s(8atcll

C. Raldl D. Yygdl

What is called the temperature at which surface tension becomes zero?
A.  Zero temperature B.  Critical temperature

C.  Main temperature D.  Super temperature

% AlUHlAl Yr2dlll 9o AL AR 9 56 B?

A Yo cdlUHlel B. sild dluniet

C.  Yul dlUHlet D. YU dlUuHlel
What is S.I. Unit of surface tension?

A. Newton B. dyne/meter

C. newton/meter D. dyne/centimeter

YR lil oll A Y. s g B7?

A o3esl B. Slget/Mex

C. oyeat/Mex D. si&et/AcclMeR
Elasticity is which property of matter?

A. electrical B. electronics

C.  mechanical D. thermal
RA[QRUUS AL A geuoll g2l ojtu B2

A [Qwyd B. [(AQoxg]

C. ulBs D. G

At which value of temperature, the Celsius and Fahrenheit scale value is same?
A -30 B. -40

C. -50 D. -60

AlUMLotoll s2ll Yet HIZ2 ACAAU Wal FRe18le HIUsHotl YU AUl Sl §?
A.  -30 B. -40

C. -50 D. -60

Speed of sound is maximum in which?

A. solid B. gas

C. liquid D. semigas

AUl el Aol HeTH Sl §?

A dol B. ¥

C. yald D. A ay

If moisture content increases then speed of sound will be

A. increases B.  remain constant
C.  decreases D. zero

SAUHL Ao] YHIEL aBl Al tallelall QoL

A dll B. AJN W

C. ue D. Yo Ul

If frequency is 10Hz then periodic time will be

A. 10s B. 1s
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Y.

25.

QU.

26.

R6S.

27.

9.

28.

RC.

29.

R¢C.

30.

30.

31.

34.

C. 001s D. 0.1s
ol Al 10 8% &lal Al Alaldsio B2l alA?

A 10 B. 1

C. o0.01 D. 0.1

If frequency is 100Hz then periodic time will be

A. 10s B. 100s

C. 0.001s D. 0.01s

o5l Al 100 8% &lal Al Alcdslo B2l aA?

A 10 B. 100

C. 0.001 D. 0.01

If periodic time is 1 second then frequency will be

A, 1Hz B. 10Hz

C. 100Hz D. 1000Hz

ol sl 1A gl Al agld decll awa?

A 18R B. 10 &%

C. 100 &&% D. 1000 &%
Distance between two successive crest or trough of wave is called
A.  Frequency B.  Wavelength

C. Mass D. Velocity

dRolell A 5Ms 9oL ¥ A sAs old ARsll B dRA g 58 B?
A gl B. Rl Glou®

C. ta D. Aal

Distance between two successive compression or rarefaction of wave is called
A.  Frequency B. Wavelength

C. Mass D. Velocity

dRolell A 55 Atlolol 3 A 505 (Aelotol AWl VAR 9 58 B?
A gl B. Rl Glou®

C. ta D. Aal

Frequency spectrum of audible sound is

A. 20Hz to 20000Hz B. 2Hzto 10Hz

C. 25000Hz to 50000Hz D. 5Hzto 10Hz
gllcd telleloll wigldug s B?

A. 20 &% ¢l 20000 & B. 2825 dl 10 &%

C. 25000 &2 ol 50000 662 D. 5 &% &l 10 683
Mathematical relation between velocity, frequency and wavelength of wave is

A.  v=nA B. A=vin

C. v=n/A D. v=ntA

dRoL 12 A9, ulg(d U dRIEMBA AN YA 5 B?
A. v=nA B. A=vin

C. v=n/A D. v=ntA

1 kg means ?

A. 10 gram B. 100gram

C. 1000 gram D. 10000 gram

1 (3o AeA?
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32.

3R.

33.

33.

34.

3%.

35.

34.

36.

36.

37.

39.

38.

3¢.

A, 10 AU B. 100 JAH

C. 1000 AUH D. 10000 JUH

1 kHz means ?

A. 10 Hertz B. 100 Hertz

C. 1000 Hertz D. 10000 Hertz

1 kHz 2@ ?

A 10 88 B. 1006882

C. 1000682 D. 10000 88

1 MHz means ?

A. 1000000 Hertz B. 100000 Hertz

C. 10000 Hertz D. 1000 Hertz

1 MHz 2@ ?

A. 1000000 &&3 B. 100000 88

C. 10000 6&25 D. 1000 88

1 microAmpere means ?

A.  10° Ampere B. 10° Ampere

C. 10" Ampere D. 10°Ampere

1 1issiRBaR Aed ?

A 10% AR B. 10°anflaR

C. 10*anflaR D. 10°%alaR

1 milliAmpere means ?

A.  10° Ampere B. 10®° Ampere

C. 10" Ampere D. 10°Ampere

1 ARACVUR Aed ?

A 10 R B. 10°alaR

C. 10*aflaR D. 10°%alaR
Precision of measurement is dependent on

A.  Temperature B.  Least count of Instrument
C. Pressure D. Observer’s care
HUstofl AAN2cl AAotl 1l Aloll UR BUR AW B?

A dlUHle UR B. AlYotoll AYH HU UR
C. E6IRL UR D. AdAsel AotlRell sl U
Which is the weakest force from the following?

A.  Electro-magnetic force B.  Nuclear force

C.  Electrical force D. Gravitational force
AActimiell 53 v Al ot ol B?

A Qe —yagla oa B. oAU Ul
C. [Aweyd wo D. 9J3ccusyil sy
Newton’s second law gives the value of

A. acceleration B.  Surface tension
C. power D. energy

o3J2atall ollAotl ollogl (A 2lef Yet WA B?

A, yaol B. Ywedll
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39.

3¢.

40.

¥0.

41.

¥9.

42.

¥R.

43.

¥3.

44,

Y.

45,

C. Wd? D. Gaf
Action and reaction are opposite and equal to each other. This law belongs to

A. Newton’s first law B. Newton’s second law

C. Newton’s third law D. Ampere’s law.

VLA M YALULA ARV W URAUR (At (Runl sla B.Q Sloll [ 82
A oesiell yuM [[au B. o3jeatall ol [Aaun

C. oyeatoll Alwl [Aaun D. AGVARA [Aun

If flow of liquid is steady and laminar then

A. Reynold number k<2000 B. Reynold number k>2500

C.  Reynold number k>3000 D. Reynold number k>3500

Yallo] aget eUR(l Wl 32 sl Al

A.  Ralcs s k < 2000 B. R0llcS s k > 2500
C. R0lles s k >3000 D. R0llcS s k >3500
The ratio of stress and strain is constant. This statement belongs to

A. Hooke’s law B. Ohm’s law

C. Newton’s law D. Faraday’s law

ylAeto wal [Aglaell ofellR HAN ¥ B. A Sloll M &2

S
A gsall Ran g, e llan
C. oy2ololl [t p. el et
Waves who have frequency of less than 20Hertz is called
A. Infrasonic waves B.  Sound waves
C.  Ultrasonic waves D.  Supersonic waves
20 &2 sl AWl wgld Ul R0 9 58 B?
A 8oslllAs dRol B. il dRoll
C. URRs a0 D. YuRALls dRal
To produce sound
A.  Obiject should be stable. B.  Rotational motion of object is required
C. Circular motion of object is D. Vibrations of object is required
required
el Geus Ul M2
A, UELE RAR ¥ «33l. B. uelde{l udlaHel o 33l B.

C. ueldell adn ol %331 ®.  D.  uelde] suq ¥33l 8.

By whom formula of reverberation time is derived

A. Newton B. Hook

C. Sabine D. Faraday
ylAald aH2 Mucle] Yot sal dsilds gl Hee)?
A o2l B. &5

C. Aol D. %33
Ordinary light consists of seven colours is called as

A. Refraction B.  Dispersion
C. Reflection D. Interference
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¥Y.

46.

¥S.

47.

¥9.

48.

¥C.

49,

50.

vo.

51.

uq.

52.

AHLA YS9 Ul 00l HAA B A 58 ueoll adAd s8l aslaA ?

A asleicel B. [(deusst

C. urlddet D. clds:0l
Which colour is more deviated in prism experiment?

A. yellow B. green

C. violet D. red

[Qosotl Yot sl 200 Al ay [Qructet WA B2

A da B. dlA

C. osodl D. A

Which phenomenon is not involved in formation of rainbow?
A. Reflection B.  Refraction

C.  Absorption D. Dispersion
Nelto®l AR @R Yslalell 58 daetl aul eidl Adl «tell?
A, WRlddet B. dsleidet

C. qlmeL D. [(Qeusst
Which coloured ray is fastest when light passes through prism?
A. yellow B. green

C. violet D. red

ystal AR [QosHHiell UR Al UR sl 2306t ysialell sy Alel ay sl &2
A da B. dla&

C. ol D. A

Light received from the Sun is mixture of how many colours?
A 7 B. 8

C. 9 D. 10

YaAuidl vadl ysial 32cl 90l AYe B?

A 7 B. 8

C. 9 D. 10

Speed of light is maximum in

A. vacuum B. glass

C. air D. steel

yslalell »su Al ay a Hi sl B?

A YoAlaslal B. sl

C. & D. ¥l

What is the speed of light in vacuum?

A, 3*10%cm/s B. 3*10°m/s

C. 3*10°%km/s D. 3*10°m/s
glculatslal ustatell »su decll sla?

A 3100/ B. 3x10°{/Q
C. 3x10%(3{l/Q D. 3«10°{l/Q

If incident angle is 35 degree then what will be reflected angle in case of reflection of
light in plane mirror?

A.  20degree B.  30degree

C. 35degree D.  40degree
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.

53.

u3.

54.

uy.

55.

uu.

56.

us.

S7.

9.

58.

uc.

59.

UH A AU ad AUl Ustletl URleldotoll (Bauuil ol 2uutd sletell (SHd
35810fl Slat AL uRtatdlet Slatell Bud decll ae?

A 205l B. 303l

C. 3530l D. 40Slall

If refractive index increases then speed of light in medium will be
A. increases B.  decreases

C. zero D. remain constant.
B cglelclalls dll dx HIRAMHL Ysialell Aol

A dll B. de

C. Yo 0 D. WA W
Superimposition of light waves is called

A.  refraction B. polarization

C. reflection D. interference
dAR9llell Asollost URetl AuUAs0UA 9 58 B?

A.  dsleidset B. ydletctst

C. uRlddel D. calds?aL

Which phenomenon is proof that light waves are transverse ?

A.  refraction B. polarization

C. reflection D. interference
Ysl2lell RN Auldld 8§ A $8 deell ad s&l aAsla?

A aslelcst B. yclletclol

C. uRlddel D. calds?aL

Which is Snell’s law from the following?

A.  sini/sin r=constant B.  sini/sin r=negative
C. sini/sinr=zero D. sini/sin r=velocity
[AAottHiell 520 el RauH B2

A, sini/sin r=RAOLS B.  sini/sin r=20L

C. sini/sinr=goA D. sini/sinr=Aal
How the propagation of waves are propagate in optical fiber?

A. dispersion B. polarization

C. Total internal reflection D. refraction
ysilla $LEoRUL dR9lle] asal 58 Id wA &2

A [Qeueset B. ydclletctat

C. Yol Aidils uradat D. dasletdst
Interference of waves can be observed in

A.  Sound waves B.  Waves in water

C. Light waves D. All of above options
dR0llej cau(d 0L Hl Aajecll st d?

A. el 29l B. welHi Geetddl 2l
C.  uyslal dRal D. GURell dMH [Ase
1nenometer is equal to

A.  10° meter B. 107 centimeter

C.  10° millimeter D. 10 kilometer
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60.

SO.

61.

SA.

62.

SR.

63.

S3.

64.

S¥.

65.

SU.

66.

SS.

1 ol (Re2 Aed

A 10° @R B. 10° ALlMeR
c. 10°RARe= D. 10° (3d®eR
Alpha particles have which type of charge?

A. zero B. negative

C. positive D. positive and negative
el s WA sl sla 8?2

A YA B. 0L

C. Yol D. ol Aol b0l
Beta particles have which type of charge?

A. zero B. negative

C. positive D. positive and negative
oflet el WA s cfloseur sl 82

A YA B. 0L

C. Yol D. ol ¥al 0L
Gamma particles have which type of charge?

A.  zero B. negative

C. positive D. positive and negative
AL 500 WA s cllosedR slat B2

A YA B. @l

C. Ual D. ol AUl BB
Alpha, beta and gamma rays are emitted from

A. Nucleous of atom B. electron

C. proton D. neutron
les, oflel Aol auHL (3200 sliell Geedst WA B ?

A WRHIQC oYsAuuMiel B. 8Asglauiel
C. URlatuiel D. oylot Higl
Alpha particles are nucleus of which element?

A. lithium B. helium

C. hydrogen D. oxygen

lesl 500 A 52l cdecloll oY(AuY B2

A @Adlan B. (s[AQan

C. &loglel D. wls{loset
Which is the unit of radio activity from the following?

A.  Newton B. Pascal

C. Joule D. Curie
(QActtHiedl 25120 AEN[ElA AsH S\ B?

A ojeal B. uRksc

C. %d D. s3ygl

1234 has how many numbers of significant figures?

A 1 B. 2

C. 3 D. 4

1234 Hi AL8s 2islo{l vl
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67.

SV.

68.

SC.

69.

Sc.

70.

90.

A 1 B. 2

C. 3 D. 4
0.0002 has how many numbers of significant figures?
A 1 B. 2

C. 3 D. 4
0.0002 Hi ULels visloll dvaul

A 1 B. 2

C. 3 D. 4
8.345 has how many numbers of significant figures?
A 1 B. 2

C. 3 D. 4
8.3451( ALEls visloll Avaul

A 1 B. 2

C. 3 D. 4
0.01 has how many numbers of significant figures?
A 1 B. 2

C. 3 D. 4
0.01M1 ALEls visloll Avau

A 1 B. 2

C. 3 D. 4
1234.7 has how many number of significant figures?
A 1 B. 2

C. 5 D. 6
1234.7H1 ALds 2islo(l vl

A 1 B. 2

C. 5 D. 6
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